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IE F7-TF T 97T ° [FYE - &, G KT

g1 % Gt Sl & fore sfAard 8

gheTfefl &1 Y 97T @ N T H G HlF Uk YT 57 HEAT &
fadt I97 & gyl YTl & IR U & T R 1@y |

General Instructions :

(1)
(ii)
(iit)
(iv)

67/1

This question paper contains three parts A, B and C.
Part A is compulsory for all candidates.
Candidates can attempt only one part of the remaining parts B and C.

All parts of the questions should be attempted at one place.

HIT <h
(TSR wHT qUT i o foT wrEie)
PART A
(Accounting for Partnership Firms and Companies)

& FrEerl i Gt T & 9 gEerl % fou dar feu 9 9t @Et % 9m
AT |

Name the accounts which are maintained for the partners when capitals
of the partners are fixed.

T STTITA T 1 A9 BT & 2

What is meant by sacrificing ratio ?

ged Yot o1 o 37 7 ?
What is meant by ‘paid up capital’ ?

Teh GTEieR o a3 & AT Ush BH o sargral § UE foheal gl Hel o 9 dd1su
oo TS i TTavaehar Bt ® |

List any two items that need adjustments in books of accounts of a firm
at the time of admission of a partner.

‘TY-AVEH T FAT AW B 2
What is meant by ‘under subscription’ ?

2
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6. ‘FUYT (d7g) 1 31 FAEy | 1

Give the meaning of a ‘Bond’.

7.  UH st i ugeE HIfT 9 I Th GEied BH % gHeT & fau eew @
Gehal ? | 1

Identify a situation, under which the Court may order for dissolution of a
partnership firm.

8.  ohY UG Y ISR g S SHUST: 2: 1 o 3TUIA H SIY-ETH o1 a9 &id 2 |
3814 BUY Bl AT H 1/4 T o fAT A H GrEier & ¥ 4 Jav e, 39 A
& 1Y foh 3T @Y § &= $9-8-H T 55,000 T BN | %H T 31 AT,
2013 ! FAT B a1 a9 1 g 1 T 1,60,000 AT | 1H-gTH frfriem
QAT dIR HIT | 3

Mukesh and Ramesh are partners sharing profits and losses in the ratio

of 2 : 1 respectively. They admit Rupesh as partner with 1/4 share in
profits with guarantee that his share of profit shall be at least ¥ 55,000.
The net profit of the firm for the year ending 315 March, 2013 was T
1,60,000. Prepare Profit and Loss Appropriation Account.

9. W1 fafiee 3 T 100 I8 & T 7,00,000 % 12% RUTGHI, 1 5% FHEH T
Tt fopan, fSem R 20% Wifem w891 o1 | ool o e &
AT USHTE=T giafsedt shifsu | 3

Fena Ltd. issued ¥ 7,00,000 12% debentures of ¥ 100 each at a premium

of 5% redeemable at a premium of 20%. Pass necessary journal entries at
the time of issue of debentures.

10. X fAfeE 9 T 100 Y% & 2000, 8% FOGA 1 AEH, S TH-IT T
friftra fop T &, T 100 T < TWAT T I 25% e W i ek,
gierd gra fema |
IR feAfiree <t gedent § SATawes Tstmmen gfafseat Hifo | 3

R Ltd. redeemed 2000, 8% debentures of ¥ 100 each which were issued
at par by converting them into equity shares of ¥ 100 each issued at a

premium of 25%.

Pass necessary journal entries in the books of R Ltd.

67/1 3 P.T.O.



11. (%) o, Td Q91 IS ATEEH & S ol i ShAT: 4 : 3 : 2 % Iura o fawrfoma
A 8 | TA J AT o foram qem 319+ 3791 o A1 T 1/9 WH &+
9& T AN qAT I bl IS o 9T H N | o a7 9 o ¢ a1 foaeH

3TUTd 61 T hIRA |

(@) o, 987 QT WA HIEIER & S ol i huS: 1/2, 3/10 991 1/5

H fouTia shtd 8 | 9% ®H ¥ TFeRTST T8 Al g ql 3TeT qe

T sy o i 3 : 2% U § faviira A w1 fave #d § |
3T AT = o1 ATTATH T FTq hIT, | 2+2=4

(a) K, L and Z are partners sharing profits in the ratio of 4 : 3 : 2
respectively. L retired and surrendered 1/9th of his share of profit
to K and remaining in favour of Z. Calculate the new profit sharing
ratio of K and Z.

(b)  Arun, Varun and Charan are partners sharing profits in the ratio
of 1/2, 3/10 and 1/5 respectively. Varun retired from the firm and
Arun and Charan decided to share future profits in 3 : 2 ratio.
Calculate gaining ratio of Arun and Charan.

12. U fafiReg = St fafiee & T 18,00,000 # & =T¢] =a@™ @lq &
PIAH T 100 T o FHAT 37T bl T 20 T 7% Afeem T Frifa ek fora
T2 | et qen et # ffafaa aftrfaa o

I — T 3,50,000: 4 — T 6,00,000

ThH — T 4,50,000 99T ISR — T 1,00,000
SR oFeHl o foru wem fofies i gwshl § Srevas UsHmen gfafseat
HIT | 4

X Ltd. purchased a running business from G Ltd. for a sum of
T 18,00,000 payable by issue of equity shares of ¥ 100 each at a premium
of ¥ 20 per share. The assets and liabilities consisted of the following :
Plant — ¥ 3,50,000 : Land — ¥ 6,00,000
Stock — T 4,50,000 and Creditors — ¥ 1,00,000

Pass necessary journal entries in the books of X Ltd. for the above
transactions.

13. T&1 wa e U B | Areigr off 9°7 3 : 2 AU H oW 1 9IS S
off | 3Rl IS hHST: T 80,000 AT T 50,000 off | 1 SHadl, 2013 1 I8H
oy o6t 9t @t § 1/5 9T % fTT AT Areier % €9 O ®H § YA9 R |
€ 31t ot o ®9 6 T 60,000 TS | HH T ©ATMA % Hed sl T HIT
AT AT o oI W AR UsHH=T Ffafseat hifere | 4

67/1 4
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Hina and Neerja were partners in a firm sharing profits in the ratio of
3 : 2. Their capitals were ¥ 80,000 and ¥ 50,000 respectively. They
admitted Seema in the firm on 15 January, 2013 as a new partner for 1/5
share in the future profits. Seema brought ¥ 60,000 as her capital.
Calculate the value of goodwill of the firm and record necessary journal
entries on Seema’s admission.

g fafide #1 wsiiTd T 20,00,000 H 3AFA S § g3 M T 10 TAF 6
gaar 3 ° fawss off | AT 9 1,00,000 30 % R % fow Strees
st fhY | 96,000 7= o TOTT 3TTegA W gT | |t Jr=mn iRt wi o 8
AT ITH B TS shadd 2,000 3TN okl Dt 5 W T 2 fd 791 ki 31faq Im=mT
Ty & et | 37 |ft ot 1 Fea X o e qen W1e # T 18,000 W Ul
yea A it &Rt feam e |

(i) O AfafREm, 1956 1 GRof VI, 9m I 3ER & fafies o feufa

foaTor @ ‘o7 IS ol fopd TeRR guTien SIT@ 2

(i) 39Yh & Q@i & g ot R Hif |

B Ltd. was registered with an authorised capital of ¥ 20,00,000 divided
into equity shares of ¥ 10 each. The company invited applications for the
issue of 1,00,000 shares. Applications for 96,000 shares were received. All
calls were made and were duly received except the final call of ¥ 2 per

share on 2,000 shares. All these shares were forfeited and later on
re-issued at ¥ 18,000 as fully paid.

1) Show how ‘Share Capital’ will appear in the Balance Sheet of
B Ltd. as per Schedule VI, Part I of the Companies Act, 1956.

(i1)  Also prepare ‘Notes to Accounts’ for the same.

%, @ A1 T WRER A | IR I H Tk ad] AearE & H SAMR JRey
ToRaT | ITeRT AR STTTCATE TYEH <k Seffireh Td wareed gadl T | off |
31 919, 2013 ! AU qYAT TGN H1 UG B o I 3Tl Yofl off
% — T 4,00,000, @ — T 3,00,000 TAT T — T 2,00,000 | TR % T &
% — T 4,000 ¥ 718, @ — T 3,000 Jid 7§ 3R T — T 2,000 ¥fT #T8 |
314, 2013 %! THTH §C 99 1 BH H1 9 T 6,00,000 AT | TgHI I8 &I
T TR ISt W 6% i ¥ il X E I AN T E T4 |

At feoult sl Tqsedan fa@eTd §U 39w o [Ty SAremash aarieH gfafse
HIT | 3T 97§ ISR TR gu fonedl 31 et 1 gge ot Fife |

6

5 P.T.O.
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A, B and C were partners. They started business in one of the remote
tribal areas of Orissa. They were interested in the development of the
tribal community by providing good education and health.

On 315t March, 2013, after making adjustments for profits and drawings
their capitals were A — ¥ 4,00,000, B — ¥ 3,00,000 and C — ¥ 2,00,000.
The drawings of the partners were A — T 4,000 per month,
B - T 3,000 per month and C — ¥ 2,000 per month.

The profit of the firm for the year ended 31 March, 2013 was
T 6,00,000. Subsequently it was found that the interest on capital
@ 6% p.a due had been omitted.

Showing your working notes clearly, pass necessary adjustment entry for
the above. Also identify any two values highlighted in the above question.

W, WH a7 Aee AigR o S ATl bl AN 2 : 3 : 1o A9 § faurfera
FA I | TEEH ol & AR TRt off PR 6l 5 g1 W 3Tk T &
ISt @Td I TR SO &9 6 U sivgre i W fw gm # T @
ST |

ST % HRoT 30 faarar, 2013 @i Tad 6 g &1 T8 | 31 9, 2013 i TH,

g a1 e o1 fesrfa-feamor femgam o
Teorfa-feremor 31.3.2013
2gand gt
3 3
] 1,00,000 | TS 14,000
W 2.00,000 | S 2.,96,000
E\ET 3,00,000 | Ty 80,000
eR 3,60,000 | TER 3,00,000
Hu=r faqid [ 20,000 | ferf=m 50,000
gfary swon & fore s 10,000 | g™ 2,50,000
9,90,000 9,90,000
6
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30 e, 2013 31T Uae 3! g o T FmfaRad W Haafd g3 -

(i) a1 oAk fUsal i auf s 3f|d @9 % & T4 % S
BAU, S 2010-2011 § T 45,000, 2011-2012 H T 90,000 qeAT

2012-2013 " ¥ 1,35,000 & |

(i) T % T T U < ATH o I hl T U FF a9 < 3iEa o

o MR W hH I |

(i) 9| 1 T 25,000 HH T eATh1 I AU &bt 1 T 8,000 IAfeh T

TR BT |

(iv) <IeRl W afey ot & f9u 5% 61 & & TRiSH fohan T |

(v) g afagfd % g %1 I T 5,000 TR TR

(e o TSITGehI i T fohT ST ST 38T Yol WAT dIR I qem T,

@ qn Ve TH 1 S God Heifyd T 918d & 3Heh! gar ot i | 6
Ram, Rahim and Robert were partners sharing profits in 2 : 3 : 1 ratio
respectively. The partnership deed provided that in case of death of a
partner the deceased partner’s share of capital will be donated for the
construction of a hospital in the tribal area.
Due to ill health Robert died on 30" September, 2013. The Balance Sheet
of Ram, Rahim and Robert on 315 March, 2013 was as follows :
Balance Sheet as at 31.3.2013
A A
Liabilities mOUR | Assets mount
Capitals :
Ram 1,00,000 | Cash 14,000
Rahim 2,00,000 | Bank 2,96,000
Robert 3,00,000 | Stock 80,000
Creditor 3,60,000 | Debtors 3,00,000
Workmen’s Compensation Fund 20,000 | Investments 50,000
Provision for doubtful debts 10,000 | Land 2,50,000
9,90,000 9,90,000
7 P.T.O.
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On the date of Robert’s death i.e. 30" September, 2013, the following was
agreed upon :

) Goodwill is to be valued at two years’ purchase of average
profits of last three completed years i.e. 2010-2011 — ¥ 45,000;
2011-2012 — ¥ 90,000 and 2012-2013 — ¥ 1,35,000.

(ii1)  Robert’s share of profits till the date of his death will be calculated
the basis of average profits of last three years.

(iii) Land was undervalued by ¥ 25,000 and stock overvalued by
T 8,000.

(iv)  Provision for doubtful debts is to be made at 5% of Debtors.

(v)  Claim of workmen compensation estimated at ¥ 5,000.

Prepare Robert’s capital account to be presented to his executors. Also
identify a value that Ram, Rahim and Robert wanted to communicate to
the society.

&Y AT AN Th FH H AISIGR o S ATHI hl ShAST: 3 : 2% TUA H faHTRid
H ¥ | 311, 2013 i 31 Feafi-faawor femgam o -

569 AT TR 1 fedrfd-faarur 31 W=, 2013

T T
Thg 2,500
S 17,500 | STGR 10,000
(—) g8d &I
IESH 350 9,650
ot seasga Ffer | 4,000 | Thy 12,500
gt LRE] 17,500
Ty 20,000 | Ue~eH 10,350
AR 15,000 | faf=mm 10,000
EEEay 10,000 | T 4,000
66,500 66,500
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o =1 I wai | ¥ 9rgier & w9 § yaw fea ma

o @ % 4/159 9N 7 IfERRT BT |
St 319 WA Sl o ®9 H T 15,000 TR ATC |

o ar aul & f|d a9 % 2%@1@%6@1@@%@@
B | ot oo f& = Y wnfa Tehe @ |

31 W=, 2010, 2011, 2012 T 2013 I THH Y U o BH & AW
$HAI: T 10,000; T 7,000; T 8,500; AAT T 7,500 & |

g W oAt T 10,000 A1 qAT GiGY RON W [T STRSH I
T 500 9o S/ TR |

I 1 A T 20,000 T foham T |

1)

(i1)

(iii)

(iv)

(v)

(vi)

QHcATR @A, HISIGRI oh Yoil @Td a7 75 BH o1 fedfd-foemer dar shifs |

AT

IR, TAH AT a9 Teh B4 H ARIGR & ST AT ol ShA: 5 : 3 : 2 3G
i ved 9 1 01-04-2013 ¥ 3B ®H &I foafead =@ =1 fv=w e | 3@

fea w1 feufa-faawer fafafaa o -
feafa-ferawor 01-04-2013
Iard gt
T T
FUR 68,000 | T 80,000
I 50,000 | BT=R 45,000
G| 27,000 | A a1 25,000
TSR 1,20,000 | &Y 30,000
SER 71,000
Uhe 14,000
2,65,000 2,65,000

P.T.O.
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fererest =1 e afvorm g

() T 40,000 eI % TIAT &l FAX 9 T 45,000 T form qen 9w w7 H
foshl & T 50,000 I 7T |

(i)  WefieR 1 foBRT T 40,000 H g3 |

(iii) 399 9 G 91 B T 30,000 § o= |

(iv) ¢GRI € T 1,000 H IHA TT |

(v) ¥ 20,000 % THER ged W it &l et e A9 THERi Sl 9 YA W
feam |

(vi) SEARE =™ T 5,000 ¥ |
®H 1 IS @IAT, FEERI % Yol @I 9T s @Tal dIR hHiT |

W and R were partners in a firm sharing profits in the ratio of 3 : 2
respectively. On 315! March, 2013, their Balance Sheet was as follows :

Balance Sheet of W and R as on 315t March, 2013

A t A t
Liabilities T | Assets e
Cash 2,500
Creditors 17,500 | Debtors 10,000
(=) Provision for
bad debts 350 9,650
Investment
Fluctuation Fund 4,000 | Stock 12,500
Capitals : Plant 17,500
W 20,000 | Patents 10,350
R 15,000 | Investments 10,000
Bank loan 10,000 | Goodwill 4,000
66,500 66,500

10



B was admitted as a new partner on the following conditions :
(1) B will get 4/15 share of profits.
(i1)) B had to bring ¥ 15,000 as his capital.

(iii)) B would pay cash for his share of goodwill based on 2% years

purchase of average profit of last 4 years.

(iv)  The profits of the firm for the years ending 315t March, 2010, 2011,
2012 and 2013 were ¥ 10,000; ¥ 7,000; ¥ 8,500; and ¥ 7,500
respectively.

(v)  Stock was valued at ¥ 10,000 and provision for doubtful debts was
raised up to T 500.

(vi)  Plant was revalued at ¥ 20,000.

Prepare Revaluation Account, Partners’ Capital A/cs and the
Balance Sheet of the new firm.

OR

Kumar, Shyam and Ratan were partners in a firm sharing profits in the
ratio of 5 : 3 : 2 respectively. They decided to dissolve the firm with effect
from 01-04-2013. On that date the Balance Sheet of the firm was as

follows :
Balance Sheet as at 01.04.2013

A t A t

Liabilities m;un Assets m;un

Capitals :

Kumar 68,000 | Plant 80,000
Shyam 50,000 | Furniture 45,000
Ratan 27,000 | Motor van 25,000
Creditors 1,20,000 | Stock 30,000
Debtors 71,000
Cash 14,000
2,65,000 2,65,000

67/1 11 P.T.O.
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The dissolution resulted in the following :

1) Plant of ¥ 40,000 was taken over by Kumar at an agreed value of
T 45,000 and remaining plant realised ¥ 50,000.

(11)  Furniture realised ¥ 40,000.
(i1i)) Motor van was taken over by Shyam for ¥ 30,000.
(iv)  Debtors realised ¥ 1,000 less.

(v)  Creditors for ¥ 20,000 were untraceable and the remaining
creditors were paid in full.

(vi)  Realisation expenses amounted to ¥ 5,000.

Prepare the Realisation Account, Capital Accounts of Partners and Bank
Account of the firm.

Tad! fifids 9 T 10 I % 2,00,000 T9AT M o FHimA qq 3TMeE
e fop | afm fegam < of

AT W — T 3 Ifd A

A& W — T 5 Ifd A

T T Ifq I W — T 2 Tfd T

3,00,000 371 % TTY TG ITH FY AT T} HTAGeh! ol STUTITH &9 H 700
1 e H fem T | 3teed W oy Afdfes gy @ smeeen ufyr o
gt o o | §f, 9 3,000 A T e foman TR o1, oW e
rfeqm FAreAT TR T PTaH i B %A W@ | 38eh 379 Aed L fofw MU |
Fed AU BT 3191 H ¥ 2,500 3T 1 T 8 Wi 31 1 G H U1 Jgd qA: Frifa

& faa |
STYTH THCHI % TR o T WiTa! ToifHes <l Jeaehl H TTawdeh USHTHT

glafsear HiT |

HAAT

(%) Tk HUH 4 T 20 TS o 200 3 1 wed fohan, v W T 15 gfa
3T [ T S AT T 10 T 3T 1 TAM ITH &1 IehT o7 | HATCThI A
Fed TohU gL Bt STRIT I T 10 T 3T % WAW W T 15 Ufd 7= Y
A g S 1 G MG T | T oA gl | STRN % wed
S qAT YA: T A Sl U= Fiafsedi hiferg |
12




(@) ufafies 3 vy T 10 ifhd goa & 100 F9aT 790 I Fed fohar, T=
W T 2 Yfd A YAH AT HI PIAH ITH &1 g3 AT | 39 M W
T 6 Wi 3T 1 PIAH FT T A IR TH F G AT | GG o
3 ol T 7 I AW b Prad W o Yga &9 # g4 Frifaa e fe
T | O Al gl W OSTEN Wl ed i ol g A @ i
T gfafsest hifsre |

Bhagwati Ltd. invited applications for issuing 2,00,000 equity shares of
T 10 each. The amounts were payable as follows :

On application — ¥ 3 per share
On allotment — ¥ 5 per share
On first and final call — ¥ 2 per share

Applications were received for 3,00,000 shares and pro-rata allotment
was made to all the applicants. Money overpaid on application was
adjusted towards allotment money. B, who was allotted 3,000 shares,
failed to pay the first and final call money. His shares were forfeited. Out
of the forfeited shares, 2,500 shares were reissued as fully paid up @ ¥ 8
per share.

Pass necessary journal entries to record the above transactions in the
books of Bhagwati Ltd.

OR

(a) A company forfeited 200 shares of ¥ 20 each, ¥ 15 per share called
up on which ¥ 10 per share had been paid. Directors reissued all
the forfeited shares to B as ¥ 15 per share paid up for a payment
of ¥ 10 each. Give journal entries in the books of the company for
forfeiture and reissue of shares.

(b) A Ltd. forfeited 100 equity shares of the face value of ¥ 10 each,
for the non-payment of first call of ¥ 2 per share. ¥ 6 per share
had already been called and paid. These shares were subsequently
reissued as fully paid at the rate of ¥ 7 per share. Give journal
entries in the books of the company for forfeiture and reissue of
shares.

67/1 13 P.T.O.
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SInEC)
(Tortrm fereront =t fervewron)
PART B

(Financial Statements Analysis)

“Uehg vaTs Tty @ == a8 2
What is meant by ‘Cash Flow Statement’ ?

Tt foeon o fagcmor & fergi @1 SUeRtult o 9 <qTsT |

Name any two tools of analysis of financial statements.

Uhg JaTE foaiul dIR &d 9% Ush foefia ot gry fohe T ST e ol
fore wepR h1 TTdfaty o T=aria erfieha foparm ST @ 2

Dividend paid by a financial company is classified under which type of
activity, while preparing cash flow statement ?

Hrot srfufrem, 1956 i afEnfad Freft VI wm 19 STaR seot o fedfa
foeor 4 frfeifga #¢ fopm g sfives o St=aria gnig ST -

i) I Hme

(i) IS e w=
(i) 1w we
(v) %" g WId
(v) HEET 3T
(vi) %l'l?{\%lﬁ?ﬂﬂ

State under which major headings the following items will be presented
in the Balance Sheet of a company as per revised Schedule VI Part I of
the Companies Act, 1956 :

(1) Trade Marks

(ii))  Capital Redemption Reserves
(iii)) Income received in advance
(iv)  Stores and Spares

(v)  Office Equipments

(vi)  Current Investments

14
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frfafea @ omT Hifv
(31) YT AT AU qAT
(9) i dSit ATad AU |

() YEI9E 9 3H
(i)  Gohd A9

(if) R =

(iv) Tospa =

(v) RO W ST
(vi) GeeATcH JI-Al
(vii) T @ o™
(viii) 9TH hHIRH

(ix) <o SRl

(x) o] oFarg

From the following calculate :

(a)  Operating Profit Ratio; and
(b)  Working Capital Turnover Ratio.

) Revenue from operations
(11) Gross Profit

(i1i)  Office Expenses

(iv)  Selling Expenses

(v)  Interest on Debentures
(vi)  Accidental Losses

(vii) Income from Rent

(viiil) Commission Received
(ix) Current Assets

(x) Current Liabilities

T (¥)
2,00,000
75,000
15,000
26,000
5,000
12,000
2,500
2,000
60,000
10,000

Amount (J)

2,00,000
75,000
15,000
26,000

5,000
12,000
2,500
2,000
60,000
10,000

242=4

P.T.O.



24. 31 W, 2012 d1 2013 % HElIRad A9-g1 foaen & IgRa =1 & YR
T eTcHs ATH-gTH foeer qam i

[EER dIe &1 | 31.03.2013 | 31.03.2012
TEIeH § S 30,00,000 | 20,00,000
=Y 21,00,000 | 12,00,000
Y A 3,60,000 | 4,00,000
sl el 50% 50%

On the basis of the following information extracted from the Statement of
Profit and Loss for the year ended 315t March, 2012 and 2013, prepare a

Comparative Statement of Profit and Loss :

Particulars Note No. |31.03.2013 | 31.03.2012

Revenue from operations 30,00,000 | 20,00,000

Expenses 21,00,000 | 12,00,000

Other Income 3,60,000 4,00,000

Tax Rate 50% 50%
67/1 16




25. Tafafea feafa faawr & Tere yarg faawon dam Fifse 6
e 31.3.2013 31.3.2012
feraon el 3 T
I — THAT 9T AT :
1. | svrar ffer
(37) 7= it 6,00,000 5,00,000
() "= wE e 1 4,00,000 2,00,000
2. %nﬁ\ﬁ?l?ﬂﬁ :
ST SIdaTd 2.,80,000 1,80,000
HA 12,80,000 8,80,000
II - gttt :
1. | 31 uiErg T
(31) Tt UTErgfET
I3 U A 5,00,000 3,00,000
2. %ITFLWﬁ'HTQﬁ?ﬁ' :
() =Hra 1,00,000 1,50,000
(9) =amTies et 6,00,000 4,00,000
(|) g qd1 Uhg e 80,000 30,000
HA 12,80,000 8,80,000
Wl o |
e = 1
F— 31.3.2013 | 31.3.2012
T T
T TS AT
s (- Fre 5 8) 4,00,000 | 2,00,000
STaRE T :
(i) T g Aefied I, e gEde 4o T 50,000 o1, T 60,000 B 9
fean ma
(i) a9 % A T T T 30,000 T TeIgrE TgH foha T |
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Prepare a Cash Flow Statement from the following Balance Sheet :

Note | 31.3.2013 31.3.2012
Particulars No. F F
I - Equity and Liabilities :
1. | Shareholder’s Fund :
(a) Share Capital 6,00,000 5,00,000
(b) Reserves and Surplus 1 4,00,000 2,00,000
2. | Current Liabilities :
Trade Payables 2,80,000 1,80,000
Total 12,80,000 8,80,000
II - Assets :
1. | Non-Current Assets :
(a) Fixed Assets :
Plant and Machinery 5,00,000 3,00,000
2. | Current Assets :
(a) Inventories 1,00,000 1,50,000
(b) Trade Receivables 6,00,000 4,00,000
(¢) Cash and Cash Equivalents 80,000 30,000
Total 12,80,000 8,80,000
Notes to Accounts
Note No. 1
Particulars 31.3.2013 | 31.3.2012
3T <
gs:;z%:ﬁicseﬁp Sl1l:.lastement of Profit & Loss) 4,00,000 2,00,000

Additional Information :

1) An old machinery having book value of ¥ 50,000 was sold for

¥ 60,000.

(i1)  Depreciation provided on Machinery during the year was ¥ 30,000.
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IR}
(stferenfers eraTed)
PART C
(Computerised Accounting)

19. ARG TG JUTTEl o =2 1 & ? 1
What are the components of Computerised Accounting System ?
20. HfEARU § Teh @A i €T 5 | 7 3Teh gRT o1 QAT STl & 2 1

What is represented by the 5th o 7th digits allotted to an account in
codification ?

21. GegTcHs (foeeyel) Sreed =i g ? 1
What is relational database ?

22.  IHITH @R JUTTet! < fehedl &1 ALUT sl THSTET | 3
Explain any two features of Computerised Accounting System.

23. ‘Tren Aheur (3Mfse)’ qen ‘Srer dice @ A aredd B 2 4
What is meant by ‘Data Audit’ and ‘Data Vault’ ?

24, TCEH % Il o 9 H WG, I53, Hfdded a1 T=<al i GHsy | 4

Explain Modules, Pages, Reports, and Queries as Database objects.

25. (%) TIesfic % 39 S H AW FABY qAT THIEC S 3G Taqfd & foIu
TG SISl <hl TUMHT ST B SN TR ST hl PTAH it 3 |

o
[

(@) WHffEgd o1 8§ T8 W held! ard L ohl TUET 89 FF I TUHT
HifT

A 9a4 T 15,000 T 10% i G & T 306 HW 15% 1 @ H | 4+2=6

(a) Name and explain the function of spreadsheet which calculates on
the accrued interest for security that pays periodic interest.

(b)  Calculate the formula from the following information on Excel for
computing Tax Deductible :

Basic Salary up to ¥ 15,000 at 10% and above it at 15%.
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Q. Set No. Marking Scheme 2013-14 Distributi
67 | 67 | 67 Accountancy (055) (Compartment) on of
/11/2 /3 Outside Delhi — 67/1 marks

Expected Answers / Value points
1 - 4 | Q. Name the accounts ..........ccceerrrrnnnns are fixed. Yo+ Vo=
1 mark
Ans.
e Partner’s Capital A/c
e Partner’s Current A/c
2 5 7 | Q. Whatis ccceeecceerririreeennnncenns sacrificing ratio? 1 mark
Ans. The ratio in which the old partners agree to sacrifice out of their share of profit in favour of
the incoming partner is called sacrificing ratio.
3 - 6 | Q. Whatis....cceereeeneeceeirerreeeeennnes paid up capital? 1 mark
Ans. It is that portion of the called up capital which has been paid by the shareholders.
4 1 5 | Q. List any two items......ccccccrreeennrneen. of a partner. Yo+ Vo=
Ans. Followings are the items that need adjustments: (ANY 2) 1 mark
e New profit sharing ratio
e Valuation and adjustment of goodwill
e Revaluation of assets and liabilities
e Distribution of accumulated profits (reserve)/losses
e Adjustment of partner’s capital accounts
5 2 - | Q. Whatis .cceeeeererreeeennnnnnn. under subscription? 1 mark
Ans. Under subscription means when number of shares applied for is less than the number of
shares for which applications have been invited for subscription.
6 3 2 | Q. Givethe......coeerririiiiiinnnnn, of a bond. 1 mark
Ans. A bond is an instrument for acknowledgement of debt.
7 7 - | Q. Identify a situation........................ partnership firm. 1 mark
Ans. Dissolution by court: (ANY ONE)
e When a partner becomes of unsound mind.
e When a partner becomes permanently incapable of performing his duties.
e When a partner is guilty of misconduct
e When the business of a firm cannot be carried on except at a loss.
8 - 8 | Q. Mukesh & Ramesh..........ccccceerennene P/L Account. 3 marks
Ans.
Profit &Loss Appropriation Account
For the year ending 31* March’2013
Dr. Cr.
Particulars T Particulars T
To partner’s capital A/c: 1 By Profit & Loss A/c 1,60,000
Mukesh
(80,000-10,000) 70,000 \ 1
Ramesh -
(40,000-5,000) 35,000
Rupesh- 1
(40,000 + 15,000) 55,000 1,60,000
1,60,000 1,60,000
9 | 9 | 10 | Q.Fenaltd........cecurrruurnnneen. issue of debentures.
Ans.




Books of Fena Ltd.

Journal
Date Particulars LF Dr (%) cr ()
Bank A/c Dr. 7,35,000
To 12% Debenture application & 7,35,000 1
allotment A/c
(For 12% debentures issued at premium)
12% Debenture application & allotment 7,35,000
A/c Dr.
Loss on issue of debentures A/c Dr. 1,40,000 2
To 12%debentures A/c 7,00,000
To Securities premium reserve A/c 35,000
To premium on redemption of deb. A/c 1,40,000
(For transfer of application money to =3 marks
debenture account issued at premium and
redeemable at premium.)
10 | 10 | - | Q.RLtd. .cccueeeecirrrrirreeeceeens in the books of R Ltd.
Ans.
Books of R Ltd.
Journal
Date Particulars LF Dr () cr ()
8% Debentures A/c Dr. 2,00,000
To debenture holdersA/c 2,00,000 1
(For debentures issued at par)
Debentures holders A/c Dr. 2,00,000
To equity share capital A/c 1,60,000
To securities premium Reserve A/c 40,000 2
(For debentures redeemed by
converting into 1,600 equity shares
issued at premium) =3 marks
11 | - 13 | Q. (Q) K,Land Z......ccceveereeeeennnreeenererennnnnnnenns Arun & Charan.
Ans. (a)
K:L:Z = 4:3:2
L’s share =3/9 @
L’s surrendered share in favour of K=3/9 * 1/9 = 1/27
L’s surrendered share in favour of Z=3/9 * 8/9 = 8/27@ 2
K’s new share =4/9 + 1/27 = 13/27 @
Z’s new share =2/9 + 8/27 =14/ 27 @
New Ratio =13:14
(b) Gaining ratio :
2
Arun=3/5-5/10=1/10
Charan=2/5-2/10=2/10
Gaining ratio = 1:2 =4 marks




12 | 13 | 11 | Q. XLtdeeeeeecerieeccerreeceneneeeeneenen. above transactions.
Ans.
(a)
X Ltd.
Journal
Date Particulars L.f. Dr. Cr.
Amt (%) Amt (%)
a) Plant A/c Dr. 3,50,000
Land A/c Dr. 6,00,000 2
Stock A/c Dr. 4,50,000
Goodwill A/c Dr. 5,00,000
To Creditors A/c 1,00,000
To G Ltd 18,00,000
(For running business Purchased)
b) GLtd Dr. 18,00,000
To Equity Share Capital A/c 15,00,000 2
To securities premium reserve A/c 3,00,000
(For shares issued at premium in consideration) =4 marks
13 | 14 | - | Q. Hina & Neerja......cccceeveeveeueneccennnn Seema’s admission.
Ans. Capitalised value of the firm = ¥ 3,00,000(60,000*5)
Total Capital of partners after admission = 80,000 + 50,000 + 60,000 = ¥ 1,90,000
Goodwill of the firm= capitalised value of the firm-actual capital of the new firm 2
= 3,00,000-1,90,000 = X 1,10,000
Journal
Date Particulars L.f. Dr. Cr.
Amt (%) Amt (%)
a) Bank A/c Dr. 60,000
To Seema’s Capital A/c 60,000
(For capital bought in cash) 1
b) Seema’s Current A/c Dr. 22,000
To Hina’s Capital A/c 13,200
To Neerja’s Capital A/c 8,800 1
(For sacrificing partners compensated for share in
goodwill) =4 marks
14 | 12 | 14 | Q.BLtd...ueeiiiireeeccccceeeeececeencceeeeeeeees for the same.
Ans.
Balance Sheet of B Ltd.
Asat......cceeeaaueeee. (As per revised schedule VI)
Particulars Note No. Amount Amount
Current year Previous year
EQUITY & LIABILITIES
| Shareholder’s funds :
a) Share Capital 1 9,60,000 1




Notes to Accounts :

Particulars T
(1) Share Capital
Authorised Capital :
2,00,000 equity shares of ¥ 10 each 20,00,000 1
Issued Capital
1,00,000 equity shares of ¥ 10 each 10,00,000 1
Subscribed Capital
Subscribed Capital 1
96,000 shares of ¥ 10 each 9,60,000 =4 marks
15 - 16 | Q. ABandC......ccceuvueriiiiiirnirnnncnnnnnns above question.
Ans.
Statement Showing the capital balances as on 1-04-2012
Particulars A B C
Capital as on 31-3-2013 4,00,000 3,00,000 2,00,000
Add: Drawings 48,000 36,000 24,000 1
Less: Profit (2,00,000) (2,00,000) (2,00,000)
Capital as on 1-4-2012 2,48,000 1,36,000 24,000
Table showing adjustments
Particulars A (%) B(X) C(X) Total (%)
Profits already distributed  (Dr.) 2,00,000 2,00,000 2,00,000 6,00,000
Interest on Capital (Cr.) 14,880 8,160 1,440 24,480
Profits (Cr) 1,91,840 1,91,840 1,91,840 5,75,520 1
Total (Cr.) 2,06,720 2,00,000 1,93,280 6,00,000
Net effect 6,720(Cr) - 6,720(Dr) ---
Journal
Date Particulars LF Dr () cr ()
C’s Capital A/c Dr. 6,720 )
To A’s Capital A/c 6,720
(For adjustment entry of omissions
through capital accounts of partners)
Values (ANY TWO):
. - 2
e Social responsibility
e Development of tribal community
e Maintenance of regional balance =6 marks
e Concern for good health and education
(Or any other suitable value)
16 | 16 - | Q. Ram, Rahim and Robert.........cccccerreurrrennns the soceity.




Ans.

Robert’s Capital A/c

Particulars Amt (%) Particulars Amt (%)
To Robert’s Executors A/@ { 3,42,000 | By Balance B/d 3,00,000 1
By Revaluation A/c 2,000 1
Bu profit & loss suspense A/c 7,500 1
By workmen compensation 2,500
fund A/c
By A’s Capital A/c 12,000 iz
By C’s Capital A/c 18,000 Y%
3,42,000 3,42,000
Value (Any one)
e Social Welfare / Community Welfare 1
e Development of infrastructure in rural areas.
e Concern for backward community
(Or any other suitable value)
Working Notes: =6 marks
Robert’s share in revaluation profit = X 12,000 * 1/6 = ¥ 2,000
Robert’s share in workmen compensation fund = 15,000 * 1/6 = X 2,500
Robert’s share of profit = ¥ 90,000 * 1/6 * 6/12 =X 7,500
Robert’s share in goodwill = ¥ 1,80,000 * 1/6 = X 30,000
Note: No marks for Working Notes
17 | 18 | 17 | Q. Wand R....cccerreerreenniiiinnnnennnnnnenn. of the new firm.
Ans.
Revaluation A/c
Dr. Cr.
Particulars T Particulars T
To Stock A/c 2,500 | By Plant A/c 2,50 »
To Provision for doubtful @ 150 | By Partner’s Capital A/c @
debts A/c W - 90
R - 60 15
2,650 2,650




Partner’s Capital A/c

Dr. Cr.
Particulars w R B Particulars w R B
X T T T ks ks
By Balance b/d 20,000 15,000 ---
To
Revaluation 90 60 --- | By Investment 2,400 1,600 -
A/c fluctuation
Fund A/c
To Goodwill 2,400 1,600 ---
Alc By Cash A/c - - 15,000
3
To Balance By Premium 3,300 2,200 -
c/d 23,210 17,140 15,000 | for goodwill
A/c
25,700 18,800 15,000 25,700 18,800 15,000
Balance Sheet of the Reconstituted firm
as at 1** April 2013
Liabilities Amount (%) Assets Amount
)
Bank Loan 10,000 | Cash in Hand 23,000
Creditors 17,500 | Investments 10,000
Capital: Sundry Debtors 10,000
W- 23,210 Less: Provision for bad
R - 17,140 and doubtful debts - 500 9,500
B - 15,000 55,350 | Stock 10,000 3
Plants 20,000
Patents 10,350
82,850 82,850
=8 marks
17 | 18 | 17 | Q. Kumar, Shyam...................... of the firm.
OR | OR | OR | Ans.
Realisation A/c
Particulars Amt () Particulars Amt (%)
To Plant A/c 80,000 | By Creditors 1,20,000
To Furniture A/c 45,000 | By Kumar’s Capital A/c (Plant) 45,000
To Motor Van A/c 25,000 | By Bank A/c
To Debtors 71,000 Plant — 50,000 4
To Stock 30,000 Furniture 40,000
To Cash A/c (Creditors) 1,00,000 Debtors— 70,000 1,60,000
To Cash A/c 5,000 | By Shyam’s Capital A/c (Motor 30,000
( Realisation Expenses) van)
By Partners’ capital A/c(Loss)
Kumar: 500
Shyam : 300
Ratan: 200 1,000
3,56,000 3,56,000




Partner’s Capital A/c

Dr. Cr.
Particulars Kumar | Shyam | Ratan Particulars Kumar Shyam Ratan
g T T b b b
To RealisationA/c 500 300 200 | By Balance b/d 68,000 | 50,000 | 27,000
(loss) 2
To Realisation 45,000 | 30,000
A/c (Assets
taken)
To Cash A/c 22,500 | 19,700 | 26,800
68,000 | 50,000 | 27,000 68,000 | 50,000 | 27,000
Cash A/c
Dr. Cr.
Particulars T Particulars k9
To Balance b/d 14,000 | By Realisation A/c (Creditors | 1,05,000
To realisation A/c (assets) 1,60,000 | + Realisation Expenses) )
By partner’s capital A/c
Kumar 22,500
Shyam 19,700
Ratan 26,800 69,000 =8 marks
1,74,000 1,74,000
18 | 17 | 18 | Q. Bhagwati ltd........ccccuuvvecieeerrannnnes books of Bhagwati Ltd.
Ans.
Books of Bhagwati Ltd.
Journal
Date Particulars LF | Dr.Amt | Cr.Amt (%
) )
Bank A/c Dr. 9,00,000
To Share Application A/c 9,00,000 Iz
(For application money received on 3,00,000
shares)
Share Application A/c Dr. 9,00,000
To Equity Share Capital A/c 6,00,000 %
To Share Allotment A/c 3,00,000
(For share application money received
transferred to share capital A/c and share
allotment A/c)
Share Allotment A/c Dr. 10,00,000 1
To Equity Share Capital A/c 10,00,000
(For allotment money due on 2,00,000 shares)
Bank A/c Dr. 7,00,000 1
To Share Allotment A/c 7,00,000
(For balances of allotment money received on
2,00,000 shares)




Share first and final call A/c Dr. 4,00,000
To Equity Share Capital A/c 4,00,000 1
(For first and final call money due on 2,00,000
shares)
Bank A/c Dr. 3,94,000 1
To share first and final call a/c 3,94,000
(For first & final call received on 1,97,000
shares)
OR
Bank A/c Dr. 3,94,000
Calls in arrears A/c Dr. 6,000
To Share first and final call A/c 4,00,000
(For first & final call received on 1,97,000
shares)
Equity Share Capital A/c Dr. 30,000 1
To Share first and final call /Calls in arrears A/c 6,000
To Share Forfeiture A/c/ Forfeited shares A/c 24,000
(For 3,000 shares forfeited for non payment of
first & final call)
Bank A/c Dr. 20,000 1
Share forfeiture A/c / Forfeited shares A/c Dr. 5,000
To Equity Share Capital A/c 25,000
(For 2500 shares reissued at a discount)
Share forfeiture A/c / Forfeited shares A/c  Dr. 15,000
To capital reserve A/c 15,000 1
(For balance in forfeited shares account of
reissued shares transferred to capital reserve
account)
=8 marks
18 | 17 | 18 | Q. (a) Acompany.....cccceereeerererererenennn. shares.
OR | OR | OR | Ans.
(a)
Journal
Date Particulars L| Dr.Amt (%) | Cr. Amt (%)
F
Equity Share Capital A/c Dr. 3,000
To Share Forfeiture A/c /Forfeited shares 2,000 1%
A/c
To Calls in arrears A/c 1,000
(For 200 shares forfeited for non payment




of call)

Share forfeiture A/c /Forfeited shares A/c Dr.
To Share Capital A/c
(For 200 shares reissued at a discount)

Bank A/c Dr.

2,000
1,000

3,000

Share forfeiture A/c/Forfeited shares A/c Dr.
To capital reserve A/c

(For balance in forfeited shares account of
reissued shares transferred to capital reserve

account)

1,000

1,000

(b)

Journal

Date

Particulars

m -~

Dr. Amt (%)

Cr.Amt ()

Equity Share Capital A/c Dr.

To Share first call/ Calls in arrears A/c

To Share Forfeiture A/c/Forfeited shares A/c
(For 100 shares forfeited for non payment of
first call)

800

200
600

Bank A/c Dr.

Share forfeiture A/c /Forfeited shares A/c Dr.
To Share Capital A/c
(For 100 shares reissued at X 7 per share)

700
300

1,000

Share forfeiture A/c /Forfeited shares A/c Dr.
To capital reserve A/c

(For balance in forfeited shares account of
reissued shares transferred to capital reserve
account)

300

300

1%

1
=8 marks

PART B

(Financial Statements Analysis)

19

21

Q. What is.....oitrreemmnnnisiiiinnnnnennnnnnnss statement?
Ans. A cash flow statement is a statement showing inflow and outflow of cash & cash

equivalents from various activities of a company during a specific period of time.

1 Mark

20

19

Q. Name any......ccceeeeecennennnnens financial statements.
Ans. Tools of analysis of financial statements (ANY TWO)

Common size statements
Comparative statement
Trend Analysis

Ratio Analysis

Cash flow statement

B*¥2=
1 Mark




21 | 20 | 20 | Q. Dividend paid.....ccccoeeeriiiernnnns statement. 1 Mark
Ans. Financing Activity
22 | 22 | 22 | Q. State under.....ccceeeuunennnn Companies Act, 1956.
Ans.
S.No. Items Major Headings
1 Trademarks Non current assets
2 Capital redemption reserve Share holders’ Funds % *6
3 Income received in advance Current Liabilities
=3 Marks
4 Stores and spares Current assets
5 Office equipments Non current assets
6 Current Investments Current assets
23 - 23 | Q. From the following...........ccccuu...... turnover ratio.
Ans.
(a) Operating Profit ratio = Operating Profit / Net revenue from operations * 100 ”
Operating Profit = Gross Profit — Office Expenses — Selling expenses + Commission
Received
= 75,000-15,000-26,000+2,000 = ¥ 36,000 %
Net Revenue from operations = ¥ 2,00,000 Y%
Operating profit ratio = 36,000 / 2,00,000 * 100 = 18% %
(b) Working capital turnover ratio = Net revenue from operations / Working Capital v
Net revenue from operations = ¥ 2,00,000 1
Working Capital = Current Assets — Current Liabilities = 60,000-10,000
=% 50,000 %
Working capital turnover ratio = 2,00,000/50,000 = 4 times =4
Marks
24 | 24 | - | Q.Onthe basis.......ccoeerrerirnnnens loss
Ans.
COMPARATIVE STATEMENT OF PROFIT & LOSS
For the years ended 31* March, 2012 and 2013
Particulars Note | 2011-12 2012-13 | Absolute | Change
No. () (%) change In %age
Revenue from Operations 20,00,000 | 30,00,000 | 10,00,000 50 Y%
Add: other Income 4,00,000 3,60,000 (40,000) (10) Y
Total revenue 24,00,000 | 33,60,000 9,60,000 40 7
Less: Expenses 12,00,000 | 21,00,000 | 9,00,000 75 %
Profit before Tax 12,00,000 | 12,60,000 60,000 5 1
Less: Tax @ 50% 6,00,000 | 6,30,000 30,000 5 1
Profit after tax 6,00,000 | 6,30,000 30,000 5 %
4 Marks
25 | 25 | 25 | Q. Prepare a Cash flow Statement ............... was < 30,000.




Ans.

Cash flow statement
For the year ended 31* March 2013 as per AS-3 (Revised)

Particulars Details (%) Amount (%)
A)Cash Flows from Operating Activities:
Net Profit before tax & extraordinary items 2,00,000
Add: Depreciation on machinery 30,000
Less: Profit on sale of machinery (10,000)
Operating_ profit before working capital changes 2,20,000
Add: Increase in trade payables 1,00,000
Decrease in inventories 50,000
Less: Increase in trade receivables (2,00,000)
Cash generated from Operating Activities 1,70,000 2%
B)Cash flows from Investing Activities :
Purchase of machinery (2,80,000)
Sale of machinery 60,000
Cash used in investing activities (2,20,000) 1%
C)Cash flows from Financing Activities:
Issue of share capital 1,00,000
Cash from financing activities 1,00,000 1
Net increase in cash & cash equivalents(A+B+C) 50,000
Add: Opening balance of cash & cash equivalents: 30,000
1
Closing Balance of cash & cash equivalents: 80,000
Working Notes:
Dr Machinery A/c Cr
Particulars Amt () Particulars Amt (%)
To Balance b/d 3,00,000 | By Depreciation A/c 30,000
To Profit & Loss A/c (Profit) 10,000 | By Bank A/c 60,000
To Bank A/c (Purchase) 2,80,000 | By Balance C/d 5,00,000
5,90,000 5,90,000
= 6Marks
PART C
(Computerized Accounting)
19 | 20 | 21 | Q. What are.....cceeeeeveeeiiiinnninncennnes system? 1 Mark
Ans. The components of computerised accounting system are:
Procedure, Data, People, Hardware and Software.
20 | 21 | 19 | Q. What is...cccceeriiiinninniennnnnnnnnn. codification? 1 Mark

Ans. 5™ to 7" digits may be used for individual account head under an account sub group




represented by first four digits. For eg. Under current assets bank 13031303001 can be SBI A/c
number.......cce......

21 | 19 | 20 | Q. What....cccocieiiiirirnnnnniienennnnenns database? 1 Mark
Ans. A relational database utilises two or more tables containing data arranged in rows and
columns.
22 | 22 | 22 | Q. EXplain....ccociiieeeneniiiinniinnneeneee. system.
Ans. Scalability: CAs enable in changing the volume of data processing in tune with the change 1%
in the size of the business. The software can be used for any size of the business and type of the
organisation.
Reliability: CAs make sure that the generalised critical financial information is accurate, 1%
controlled and secured. =3 marks
23 | 24 | 23 | Q. What is..cccceeiiieiiiiininnnnnnnssseenns vault?
Ans. Data audit: The features of CAs which enables one to know as to who and what changes 2
have been made in the original data thereby helping and fixing the responsibility of the person
who has manipulated the data and also ensures data integrity.
Data vault: The software provides additional security for the input data and this feature ensures 2
that the original information is presented and is not tampered. Data vault password cannot be
broken which is made using data encryption. =4 marks
24 | 23 | 24 | Q. EXplain....ccccrrereeeeeencceeeeeneeeeeees objects. 4 marks
Ans. MODULES: They help to write programs in visual basics to develop advanced application. It
allows designer to create a set of programming instructions called functions.
PAGES: They are web pages used to view, enter or edit, current data from web.
REPORTS: This object class is used to show the results generated in report form based on tables,
queries etc.
QUERIES: Queries are used to extract the relevant information from a table. It can be done by
graphic user interface or by creating SQL compatible query statement.
25 - = | Q. Name.....cooeeuiiiieeiiiireeccn e, 15%
Ans.
(a) Name of the function — ACCRINT 1
Syntax : Issue first_int, sattlement, rate, par, frequency, basis calc_method)
Where,
Issue: Security issue date
First Interest: Security’s first interest date 3
Settlement: is the security’s settlement date which is after date of issue, when the
security is traded to the buyer.
Rate: Security’s annual coupon rate
Par: par value by default it is ¥ 100
Frequency: Number of coupon payments per year.
Basis: is the type of day count basis to use.
B2 = IF (A2>15000, 0.15*A2, 0.1*A2) 2

=6 marks
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